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20008 &= 204 LIS SHAIHEEE S A
SN FOMET R L
HH: 20| ZMBBE HASS
ol 2220 XNA(ASSHAESESIH) (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
ZF0IME T & 0t 705,422 1,005,300 A299,878
= 111,000
& 49,180
iy 545,242
=0 ZMEBY HASSE A3 705,422 1,005,300 299,878
= 111,000
& 49,180
o 545,242
o220 X (A2 SUHAILEESIAH) 705,422 1,005,300 A299,878
= 111,000
= 49,180
iy 545,242
o220 & =H| 519,288 552,840 N 33,552
308 AXIEHXMSOIA 519,288 552,840 N 33,552
05 KAXEX2AREES 519,288 552,840 A 33,552
o 9220 XZBHI(ZHIREEZ2)
12,982,200,000 * 4% 519,288
A2 MES X HI 6,904 206,000 199,096
307 Q20| A 6,904 206,000 199,096
01 2z 3=l 6,904 206,000 A 199,096
o AAMELIH L AMISH (ZHEE
=2) 172,600,000 * 4% 6,904
Sl =32 A2yl 23,750 21,960 1,790
= 19,000
== 3,800
o 950
101 2124 d| 23,750 21,960 1,790
= 19,000
== 3,800
iy 950
10 JI2ZtHIZ2E2NSES 23,750 21,960 1,790
o o202l At 23,750
- ol AH| 1,500,000 » 1¥ * 12& 18,000
- 14,400
o= 2,880
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AN FRMETA D
M )| =MEE2E HasSE N
o2l 2220 XNA(ASSHAIESESIAH) (el &)
SA - BB S (3 - Al 85 arol i o 2
ol2=0 AtR2tcldl 26,980 23,000
& 26,980
201 LEH23H] 14,980 12,800
< 14,980
01 AR 2&cldl 14,980 12,800
< eBEt=ZEH| > 0
o EE=SHME 3,000,000 3,000
< 3,000
o NRES E HUMES 2,000,000 2,000
< 2,000
o 2250 A2 €5 S R 1,980,000 1,980
= 1,980
o SEMH 3,000,000 3,000
= 3,000
< 2gag> 0
o 233 2E+Y 1,000,000 1,000
< 1,000
< SEHl > 0
o S g 4,000,000 4,000
= 4,000
202 Oddl 6,000 6,000
= 6,000
01 SLHAHI 6,000 6,000
o I 6,000,000 6,000
< 6,000
301 LptEazg 6,000 0
= 6,000
10 BAIAHIENS 6,000 0
o =250 =3 W 6,000,000 6,000
= 6,000
S22 WAL ollbldl 13,500 13,500
801 oildldl 13,500 13,500
01 ollglgl 13,500 13,500
o o2 ALY dldldl 13,500,000 13,500
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